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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data

dFVi
dFVo

ab—a G G G O & & G & G GO -G - 00—

—0—
+

0.04
0.02
0. 00

-0.02

0. 04

72.5

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

day

D — - - | A HEOC - K

MENE — — WO — =K _

ECB*10%

fz_stock _ec
ECC

- -
—_——
——

72.5

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

day

PHB*10%

——
—@— PHC

72.5

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

day

—&— DUC

72.5

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

day

—&— FRV

72.5

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

day

—&— FRC

72.5

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

day

—0— fw

2750
2500
2250
2000 -
1750
1500 ~
1250 ~

7.5
7.0
6.0 1
5.5 1

800
600
400
200

500 -
400 -
300 -
200 -
100

0. 62
0. 60
0. 58
0. 56
0. 54
0.52
0. 50
0. 48

7.2+
7.0
6.9
6.8 1
6.7
6.6
6.5

7.1+

72.5

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

day



Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

3000

2500 -

2000 -

1500 ~

1000

Warg@ing: col ['FVIEC'] is missing

500 -
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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